Worked example Your turn
_ ¢ n+,.57r _g 77T+__77T
Zy = (cos12 isin— Z1 = (Cos10 isin—g
—3 3n+__ 31 _4 47T+__47T
Z, = 3(cos  Tisin 4) Z, = 4(cos o Tising
Find: Find:
i) 1212, i) 1212, 3?2
i) arg(z,2,) i) arg(z,2,) s
2

iii) z;z, in the form r(cos 8 + i sin )

iv) 12, inthe form x + iy

iii) z,z, in the form r(cos 6 + i sin )
N s
32 (cos (— E) + i sin(— E))

iv) z;Z, inthe form x + iy

—32i



Worked example

Your turn

_ ¢ s s 51

Zy = (cos12 isin—

3m = 3m

Z, = 3(COST+ lsmT)
Find:
A
i) 7

i) arg(i—:

i) ? in the formr(cos @ + isin )
2

iv) z—; in the form x + iy

—g 7T +isi 7T
Z, = (Cos10 Esin—g
4Tt 4m
Z, = 4(cos? + lsm?)
Find:
0 AL
I) Z, 2
i) arg(i—; _%

i) ? in the form r(cos @ + i sin )
2

2 (cos (— %) + i sin(— %))

iv) j—l in the form x + iy
2
1.90 — 0.618i



Worked example Your turn
_ ¢ 50 = 5m _g 77T+__77T
z, = 6(cos 7 —isin 12) z, = 8(cos 1o T isingg
—3 37‘[+__37T _4 4Tt 4m
Z, = 3(cos  Tisin 4) Z, = 4(cos o~ isin 5)
Find: Find:
i) 212, i) 1212, 32
i) arg(z,2,) i) arg(z,2,) i
10

iii) z;z, in the form r(cos 8 + i sin )

iv) 12, inthe form x + iy

iii) z,z, in the form r(cos 6 + i sin )

32 (COS (—%) + i sin(— %))

iv) z;Z, inthe form x + iy

30.4 — 9.89i



